Sr Questions Answers Choice

oo <3
el Slle
55 35

Ky
b ’; .Y
JeSals

1 = S G s

2 = S S ) e S Jsna 50

Ky
L /; K Y
JaSals

3 = LS S s 1S Jsaa 550

&l
Sy

L ’s .Y
JeSels

4 2O s Uk S e s

Ky
L ’s .Y
JaSals

5 =S S tsea K Jgaa 5550

&
Y

b ; .Y
JaSals

6 = S Ry | 5 S Um0

&
SN

S8y
JaSals

7 = LS Ly s 1S s )0

& s
S

Eufy
JaSa U

8 =PSB g e D s

16
17
19
18

9 = aad (S s R e Jsts 5050

1974
1984
1988
1884

10 S b S e a8 BAY (S Jsts 5050 2 s

el o ‘

A5 (S G Gl
ol ke

L

11 = Ui L OIS pualic alas (e iy K S

Wr UOowWP UOWP U0WP» U0Wr U0Wr 0D0Wr U0W» U0UP 0OWm» U0W» 00w

12 = RS Jbasil 8 Cliagad Gllae S K550 a0



